Prof. Eng. Mohamad Ladan

I- State/Write whether each of the following i1s True or Yalse. (Every two wrongs will take
away one right. ) (1 pl. eachy

a. Qéﬂ Any C++ program that prints three lines of output must contain three outpul
atements using cout.

P, a4 C++ consider the variables numero and Numero 1o be identical.
c. Vre2 Static data members of a class have class scope.
d. An array can store many different types of values.
e € [fy and z are declared as: int y, z; then 1 can write y = &z;

The name of an array is a pointer to the last element of the array.

Class destructors can take arguments.
Lz A const member function of a class can modify const objects.

i falae Constructors cannot specify default arguments.
iF $1.l:¢ A friend function of a class cannot access the protected members of the class.

<k T A subclass can access the private members of its parent class. _
|. €= The precedence of an operator cannot be changed by overloading.

m. 1#42]f the + operator 1S overloaded t | ‘
operator will be automatically overloaded to work with arrays Of Integers.

&hh. Operator overloading can he used to create new non-existing OPeTators.
L \% ic b lass. all members of the base ¢l
xR [ace. When deriving a class from a public base class,

become public members of the derived class.
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Find/circl-e the syntax error(s) in each of the following and correct it/them or explain how
lo correct it: (1 pt for each corrected error)

a. int A2D[2] [2] { ; @

A [ =4 {0,
Q),vl)f *lﬁ{' \] ~-S<

b. class hour {

public:
hour (int):
(void ~hour () ;) v hovn () ;// dQSk Vo - @
private:

int H =0;
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3- What is the main benefit of using inheritance? £e, (1 py) /e
M L 19 : VO TS oL ‘t_c:_‘tﬂl%e%\‘w, /\MMA efJ"J - "f"k

4- What is the difference between a static variable and az automatic ariable? A Hpts) C:.;Jﬂ,;

r? I : -

- . - . s _® . f,
5- Dé¥clare x as an integer variable, initialize X 1O 10, declare y as a po ? an lpleg:—'he
assign v the address of X, and then write a statement 1O print the ¢ t of x using

dereferencing operator.
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6- Def?ne a class person with three public data members: first-name, last-name, and age.
Their defaults values are: Mohamad, Ladan, and 35. Derive a class student from class

person, the class student should have one public data member major. Overload the strea‘m
Insertion operator << (cout) so that it will print the first-name, last-name, age, and major

for any student object.

Write the class person and its subclass student, and a driver program that will
Instantiate an object of a class student intialized with your own data—
firstname, lastname, age, and major) using the class constructor, and print thesf

the overloaded stream insertion operator <<
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